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(& %)
hax*+a® & 4 ax)
(# 1 X+2)
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(2)  2ax’+3bx—4ax—6b
= (2ax® —4ax) + (3ox—6b) (A& %)
= 2ax(x—2)+3b(x-2) (t2ax® —4ax ¥ # 1 2ax > 3bx—6b ¢ & 71 30b)
= (2ax+3b)(x—2) (1 x-2)

(3) x% —2ax+bx—2ab

= (x* +bx)—(2ax+2ab) (A )
= X(x+b)—2a(x+b) A x2+bx? S x > 2ax+2ab? & 2a)
= (x—2a)(x+b) (#& 21 x+b)

(4) x* +ax—bx—ab

= (x*+ax)-(bx+ab) (& )
= X(x+a)—b(x+a) Ax?4+ax® & x > bx+ab? & Sb)
= (x=Db)(x+a) (#% 41 x+a)

[y ]6.22-3

Flas A 2T 5 & 50

(1) x*—3ax+bx—3ab (2) x?+ax—2bx—_2ab
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42 6. 2. 2-4

3 5&;,,\ ;T;,J%;\: :

(1) XP+7X2+x+7

#i#
(D X3+ TX2+X+7
= (X*+7x)+(x+7)
= X*(X+7)+(x+7)
= (X*+D)(x+7)

(2) x® +3x* —5x-15
= x*+3x*—(5x+15)
= X*(Xx+3)-5(x+3)
= (x*-5)(x+3)

[$% ] 6.2.24

Fl3¢ e fET AR G

(1) X*—4x*+x-4

(2) x®+3x?-5x-15

(&%)
AP+ 4 0 X))
(& M x+7)

(&)
Ax34+3x% ¢ & A x? s 5x+15¢ % 415)
(3 91 x+3)

(2) x*+2x*—-4x-8
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G142 6. 2. 2-5

Fl A fET A RN

(1) x*—2ax+bx—2ab

(D x* —2ax+bx—2ab
= (x*-2ax)+ (bx—2ab)
= X(x—2a)+b(x—2a)
= (Xx+b)(x—2a)

(2) x* +ax—bx—ab
= (x*+ax)-(bx+ab)
= X(x+a)—b(x+a)
= (x=Db)(x+a)

[$% ] 6.225

Flat e fET AR5

(1) x?+3ax+2bx+6ab

(2) x*+ax—bx—ab

(& f)
Ax?—2ax® & 41 x > bx—2ab® & 21b)
(£ 41 x—-2a)

(& %)
Ax?P+ax¥ E A x s bx+ab¥ & b)
(4 x+a)

(2) 3x*+ax—3bx—ab
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5|48 6. 2. 2-6

3 5&;,,\ ;T;,J%;\: :

(1) x°y—xy+3x-3

(D X’y —Xxy+3x-3
= (Xy-xy)+(3x-3)
= Xxy(x-1D)+3(x-1)
= (xy+3)(x-1)

(2) Xy+2y+3x+6
= (xy+2y)+(3x+6)
= Y(Xx+2)+3(x+2)
= (y+3)(x+2)

[$% ] 6.2.2-6

AR A

(1) 2x°y—xy+8x—4

(2) Xy+2y+3x+6

(&%)
(. X2y—Xy e $2d1xy > 3x—37¢ & 413)
(% 4x-1)

(&)
(BXy+2y® & dly » 3X+6 7 #% 11 3)
(& x+2)

(2) X*+3x+3xy+9y
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BIAE 6. 2. 2-T(FF 7 & )

3 FAA A A

(1) 5x*+8x+3 (2) 3x*-=7x-10
#iE

B EE  MEEA A o BRI —IERR - AR T4

(1)  5x*+8x+3

= 5x*+(5x+3X)+3 (#-8x 4+ & 5x+3x)
= (5X* +5x) +(3x+3) (A )

= 5x(x+1)+3(x+1)

= (5x+3)(x+1 (#% 4 x+1)

(2) 3x* -7x-10
= 3x*+(=7x)+(-10)
= 3x*+(3x-10x) +(-10) (#-—TX 35 = 3x—10x)
= (3x*+3x)+(-10x-10) (A )
= 3X(x+1)+(-10)(x+1)
= 3X(x+1)-10(x+1)
= (Bx-10)(x+1) (& 4 x+1)

[y ]6.22-7

FlFV A fET 5 50 0

(1) X*+3x+2 (2) 4x*+3x-1
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(1) x* -~ 2x (2) 6(x=2) ~ x(x—2)
(3) 5x* - 6x (4) (x+3)(x+7) ~ (x+3)(x-2)
¥ 42 6.2-2

A R E A

(1) 7x*+4x (2) 6x+6
(3) 2x*-5x (4) 6x%+6Xx
¥ 48 6.2-3

S R E A

(1) x(X+2)+5(x+2) (2) x(x=3)—-5(x—-3)

¥ 486.24

Fl3 AT A RN

(1) (X+D(x=7)+(x+D(x+7) (2) (6,x=3)(x—2)—(x+6)(x—2)
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¥ 42 6.2-5

Fl3 A fET A RN
(1) xX}=x*+x
(3) ax+4a

¥ 42 6. 2-6

FlF\ o fET 5 E 58

(1) (x=1)%*+3(1-x)
(3) 6x(2x—-1)—5(-2x+1)

¥ 426.2-7
FI5 A f2T 5 A 5

(1) x(x=3)+4(3—x)
(3) 4x(5x—1)—(1-5X)

¥ 426.2-8

Flso A fiET o kS

(1) (x+5(x—-3)+3(x—3)

(2)
(4

(2)
(4)

(2)
(4)

(2)

6x° —7x% —2x

ax? +7x

3X(X—2)—5(-x+2)
X(7X+2)—2(=7x—2)

3x(2x—-1) +5(1—2x)
Ox(3x—1)+2(1—-3x)

(BXx+2)(x=5)+(3x+2)(2x +3)
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¥ 42 6.2-9

Fl3 A fET A RN

(1) (x=2)>+7(2-X)
(3) x(x=7)+3(7—Xx)

¥ 426.2-10

CAERATA ;,;"r;]]‘i?;\: :

(1) ax—a—x+1
(3) 3ax+3a+x+1

¥ 42 6.2-11

Fl3 AT A RN
(1) 3ax+x+3a+1
(3) bx+2b+x+2

(2) (x-2)*-3(2-x)
(4) (x=3)°-(3-x)

(2) bx+2b+x+2

(2) ax+a+bx+b
(4) ax—a—bx+b
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¥ 42 6.2-12

Fl A fET A RN

(1) ax*+3ax+2x+6
(3) bx?—-3bx+2x—6

¥ 42 6.2-13

FlF\ o fET 5 E 58

(1) xX*+9%%+x+9

¥ 42 6.2-14

Flss A 32T 5 & 50

(1) x?+2ax+2bx+4ab

¥ 42 6. 2-15

Flso A fiET o kS

(1) xy’+xy-y-1

(2) ax®* —5ax+bx—5b

(4) x*+ax+bx+ab

(2) x®-3x*>—-6x+18

(2) x?—ax+bx—ab

(2) xy—5x+2y-10
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6.3 & % iz 2N RAFN Lz

FEAE » TR RIS B RIE AT IR -

AR S x* -9 > BILIE 9 Bk 3 -

AIBLEIAT R ASE = A5 a® ~b® = (a+b)(a-b)
x> -9

=x* -3

=(x+3)(x-3) FExEfFa - E3EED

MAACE AR i - B HARE AT AT ¢
l. FJ# - a®~b* =(a+b)(a-b)
0. FIEJ ¢ (a+b)? =a”+2ab+b’
3. #3)7 ¢ (a—b)? =a’ —2ab+b?
4. 17 HF1 : a®+b®=(a+b)(@® —ab+b?)
5. 77 5%=: a’-b®=(a-b)(@*+ab+b?)
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6.3.1% 17 %% £ 2R EFAAf2

E AR - a’—b” =(a+b)(a-b)
|48 6. 3. 1-1
‘fl F L3 71
(1) x*-4
(3) x*-100
iR
(1) x> —4
— X2 _22
= (x+2)(x-2)
(2) x? —49
— X2 _72
= (X+7)(X=7)
(3) x* —100
= x2-10°
= (x+100)(x—100)
(4) x* —225
= x%2-15?

(Xx+15)(x-15)

DN TE AT A N

(2) x*-49
(4) x*-225

(F# &2 4 230

(«TJ?J.—»;

(«N’i’r B

(«“?’r.l-v;

6-34
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[y ]631-1

(1) x*-9

b4 6. 3. 1-2

(2) x*-121

—N?r DI A ;R/,,\}gz;—r;q)‘éit :

(1) 4x* -4
(3) 49x*-100

e
(D) 4% —4
= (2x)* =22
= (2x+2)(2x-2)
(2) 9x* —25

= (3x)°-5°
= (Bx+5)(3x-5)

(3) 49x* -100
= (7x)*-10°
—  (7x+10)(7x-10)

(4) 25x° —16
= (5x)*-4°
= (5x+4)(5x—4)

(2) 9x?-25
(4) 25x*-16

(i L= % 2 30)
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[%¥]63.1-2

FIr TS L AT A fET AR5

(1) 4x*-81

54 6. 3. 1-3

(2) 9x*—64

F# TS L ANF N SR A& SN
(1> XZ_aZ
(3) 4x*—9b?

(2)

(3)

(4)

x* —a’
(x+a)(x—a)

x* —4a’
x? —(2a)°
(x+2a)(x—2a)

Ax? —9h?
(2x)* —(3b)*
(2X+30)(2x—3h)

16x* — 4903
(4x)? - (7b)*
(4x+Th)(4x—7h)

(2) x*-—4a?
(4) 16x* —49b?

(I T3 L 2 5%)
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[y ]631-3

—N?r DI A ;R/,,\}gz;—r;q)‘éit :

(1) x*—4c? (2) a’x*-1

42 6.3.1-4

(1) (x+1)*-4 (2) (x+1)*—(x-1)°
(3) (x+a)*-(a—-2)* (4) x*—4(x+1)?
#iE

(D) (X+l)2 -4
= (x+1)*-2°
= [(x+D+2][(x+1)-2] (Fr# T2 L 235%)
= (x+3)(x-1)

(2) (x+1)* —(x-1)°

[(x+D)+(x=DI(x+D) - (x-1)] (F1# L= L a5

(2X)(2)
4x

(x+a)*—(a-2)*

[(x+a)+(@-2)(x+a)-(a-2)]  (f1* F> £ =35)
(x+2a-2)(x+2)
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(4) x> —4(x+1)?
= X" —[2(x+D]
= [x+2(x+D][x-2(x+1)] (1# T3 £ 235%)
= (BX+2)(—x-2)
= —(3x+2)(x+2)

[y ] 6314

—?ll’lf ] i;\;\ 3 ;\]/ﬂ\ﬁg"f}lj);;\‘. :

(1) (x+1)? =(x+2)? (2) x*=9(x+3)°

542 6.3.1-5

Fl3¢ o fRT A RN

(1) x*-81 (2) (x*+1)*-4

(3) 9xy? —4x° (4) 4x*(y-1)-9(y-1

iz

(1) x* -81
= (x*)*-9°
= (xX*+9)(x*-9) (I T3 % 235%)
= (X*+9)(x*-3%)
= (X*+9)(x+3)(x-3) (I T3 % 235%)

(2) (X2 +1)2 -4
— (X2 41)2-2?
= [(x*+D)+2][(x* +)-2] (1# T3 £ 235%)
= [x*+3][x*-1]
= (x*+3)(x*-1%)
= (X +3)(x+D(x-)) (f1* = £ 230
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(3) Ixy? —4x°
= x(9y* —4x%)
= X[@3y)*-(2x)°]
= X(3y+2x)(3y—2x)

(4 A(y-)-9(y-1
= (y-D@x*-9)
= (y-DI2x)*-3]
= (y-D(2x+3)(2x-3)

(53 ]6.3.1-5

Fl3¢ e fET A E R

(1) x°-64

(#& 1 x)

(17 T = £ 23

(& y-1)

(1) 9x*(y+2)-4(y+2)

6-39



6.3.2 & 1% fochT 3 2 N TN L2

FIHTE T AE © a® +2ab+b? =(a+h)?

548 6. 3. 2-1

%;.

(1) x*+2x+1
(3) x*+10x+25

‘i3 :
(1) X2 +2x+1

= X?24+2x1xx+1?

= (x+1)°

(2) X2 +4x+4

= X24+2x2xx+22

= (x+2)?

(3) x2 +10x + 25

= X?+2x5xx+52

= (x+5)?

(4) X2 +16X + 64

= X?+2x8xx+8?

= (x+8)°

4

v

7o

(2) X*+4x+4
(4) x*+16x+64

(41 fren = 2 5%)

(41 fren = 2 5%)

(«N 3 ‘ff’rj")_l = N 5‘)

(«N 3 ‘ff’rj")_l = N 5‘)
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[y ]632-1

I o 5 2 SRR L BT A4S

(1) X*+6x+9 (2) x*+14x+49

4 6. 3. 2-2

7 e S 2R AR S BT A RS

(1) 4x* +4x+1 (2) 9x*+12x+4
(3) 25x*+40x+16 (4) 16x* +56x+49
iz -

(D) 4%* +4x+1

(2X)% +2x1x 2x+1°

(2x +1)? (4% fochT 3 2 30)
(2) Ox* +12x+4

(3X)% +2x3x 3x + 2°

(3x+2)? (4% fochT 3 2 30)
(3) 25x° +40x +16

(5X)? +2x 4x5x + 42

(5x +4)° (4% fochT 3 2 30)
(4) 16x° +56x +49

(4X)* +2x T x 4x+ 77

(4 +7)? (4] # foenT 3 2 50)
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[$% ] 6.3.2-2

I o 5 2 SRR L BT A4S

(1) 4x*+8x+4 (2) 9x*+24x+16
)47 6. 3. 2-3
(1) X2+ X+ (2) 1l !t
4 4 3 9
(3) x*+0.6x+0.09 (4) 0.25x*+0.9x+0.81
#i#
(1) X2 4 X+ -
4
x2+2><1><x+(1)2
2 2
1

(x+5)2 (41 # foend = 2 5%)
9 ety d
(2) 4 3 9

1, .11 1,

—X) +2x—x=X+(=

G r2px ()

1 1 2 s N ~

(§X+§) (1 # feend 2 2 50)
(3) x> +0.6x+0.09

x* +2x0.3xx+(0.3)°

(x+0.3)° (41% foehd 3 2 30)
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(4) 0.25x* +0.9x+0.81
= (0.5x)? +2x0.9x0.5x + (0.9)?
= (0.5x+0.9) (4] # foenT 3 2 50)

[y ]6.32-3

I o 5 2 SRR A BT A4S

(1) X+ Ex4 (2) x*+0.8x+0.16
=Xt o x? +0.8x+0.
)48 6. 3. 24
(1) X*+2xy+y? (2) 4x*+12xy+9y?
FfE

(1) X° +2Xy +y°
= X*4+2xXxy+y’

= (x+y)° (I # frehd = 2 30)
(2) Ax* +12xy +9y°®

= (2x)% +2x2xx3y+(3y)’
= (2x+3y)’ (F1* foenT 3 2 50)
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[3¥]6324

I o 5 2 SRR L BT A4S

(2) 16x*+40xy+25y°

(1) x2+4xy+4y°

5{4E 6. 3. 2-5

7 e S 2R AR S BT A RS

(1) (X+1)*+2(x+1)+1
(3) x*+4x(y-D)+4(y-1)?
(5) (x+1)?+2(x+1)(2x 1) + (2x - 1)
(7) X*+2x+1+3x+3
#fa
(1) (x+D)*+2(x+1)+1
= (X+D)*+2x(x+)x1+1°
= [(x+1)+1°
= (x+2)°

(2)  (X+2)°+6(x+2)+9
= (X+2)®+2x(x+2)x3+3
= [(x+2)+3]
= (x+5)?

(3) X2 +4x(y-1)+4(y-1)?
= X +2xxx2(y-1)+[2(y-DJ
= [x+2(y-)P
= (X+2y-2)

(2) (X+2)* +6(x+2)+9

(4) (a+b)*+2(a+b)+1

(6) (2x+1)? +8(2x+1)(x—1)+16(x —1)2
(8) X*+4x+4-y?

(7 foent = 236

(F17 fren > 255

(F17 fren =2 255
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(4)

(5)

(6)

(7

(8)

(a+b)*+2(a+b)+1
(a+b)? +2x(a+b)x1+1°
[(a+b)+1]’

(a+b+1)?

(X+1)? +2(x+1)(2x-1) + (2x -1)?

(X+1)% +2x(x+1) x (2x —1) + (2x —1)*

[(x+1)+(2x-DT
(3x)°

(2x+1)* +8(2x +1)(x —1) +16(x —1)°
(2x+1)? +2x (2x+ D) x 4(x -1 +[4(x -DT?

[(2x+1) +4(x -1
[2X +1+4x— 4]
(6x—-3)°

X° +2X+14+3x+3
(x> +2x+1) +(3x+3)
(x+1)* +(3x+3)
(X+1)* +3(x+1)
(X+D[(x+1D)+3]
(X+D(x+4)

X>+4X+4-y?

(X* +4x+4)—y®
(Xx+2)* —y?
[(x+2)+y][(x+2) -]
(X+y+2)(x—y+2)

6-45

(4] # foenT 3 2 50)

(4] # foenT 3 2 50)

(41 fren = 2 5%)

(&)

(% — 2% foehd 3 230
(%21 3)

(3 91 x+1)

(& %)
(F1* foenT 3 2 50)
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[y ]6.32-5

I o 5 SRR L BT A4S

(1) (x+2)*+2(x+2)+1 (2) (x+1)?+6(x+1)(x=1)+9(x-1)°
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6.3.3 & 17 Leh 3 2N UFN AR
HMPE A - a’—2ab+b? = (a-b)’

548 6. 3. 3-1

{4
(1) x*-=2x+1 (2) x?-6x+9
(3) x*-8x+16 (4) x?-18x+81
s

(D x> —2x+1
= X% -2x1xx+1°

= (x-1° (1% £ 0T 3 250

(2) x> —6X+9
= X?—-2x3xx+3?

= (x-3)’ (1% £ enT 3 250

(3) x> —8x+16
= X2 —2x4xx+4?

= (x-4) (1% £ e = 250
(4) x> —18x+81

= Xx?—-2x9xx+9?

= (x-9)° (1% L et = 2 50)
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[3¥] 6331

SR S I PPy E ST

(1) Xx*-10x+25

(2) x?—14x+49

F)* LTS DR FR SR SL
(1) 4x*—4x+1
(3) 9x*—12x+4

i
(D

(2)

(3)

(4)

4x% —4x+1
(2%)? - 2x1x 2x +1°
(2x -1)?

16x° —24x+9
(4x)* —2x3x4x+3?
(4x—3)?

Ox? —12x+4
(3x)7 —2x2x3x+2°
(3x—2)°

25x° —40x+16
(5X)* —2x4x5x+4°
(5x —4)?

(2) 16x*—24x+9
(4) 25x*—40x+16

6-48

(FI#* L enT 2 230

(FI#* L enT 3 230

(FU#* L e 2 230

(] * LenT 3 250



[y ] 6.33-2

SR S I PPy E ST

(1) 9x*>—30x+25

4% 6. 3. 3-3

S eI S F e P

(1) xz—x+E
4

(3) x*—x+0.25

e

(2)

(3)

(4)

12

x* —x+0.25
x* —2x0.5%x x+(0.5)?
(x—0.5)?

0.25x* —0.8x+0.64
(0.5x)? —2x0.8x0.5x +(0.8)°
(0.5x—0.8)?

1.,
(2) §X

6-49

15

(2) 49x*—28x+4

1
25

(4) 0.25x*-0.8x+0.64

CIEE T LRI

(17 L3 2 50)

(F1% LT 250



[y ]6.33-3

SR S I PPy E ST

(1) Xt Zxy = (2) x*—-0.8x+0.16
5 o5 X" —U.0X+U.
4% 6. 3. 3-4
(1) x*—2xy+y’ (2) 9x2—30xy+ 25y
Hia

(D XZ —2Xy+Vy?
= X*-2xxXxy+Yy’
= (x-y)’ (f1# £ T = 250

(2) 9x* —30xy + 25y?
= (3X)? —2x3xx5y+(5y)*

= (3x-5y)’ (I * £ ehT = 230
[#% ] 6.3.3-4

I LT 3 U F AR AL G

(1) x*—6xy+9y? (2) 9x* —12xy+4y°
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4% 6. 3. 3-5

FI* F T 3 AN TF N L fET AL G

(1) (x+1)*=2(x+1)+1

(3) x*—=6x(y-2)+9(y-2)°

(5) (2x+1)?—2(2x+1)(x—3) +(x—3)?
(7) X*=2X+1-Txy+7y

i

(2)

(3)

(4)

(x+1)% -2(x+1) +1
(X+1D)? —2x (x+1) x1+12
[(x+1)-1]°

X2

(x—1)* —4(x-1) +4
(x—1)? =2x (x=1)x 2+ 2
[(x-1)-2]°

(x=3)*

x> —6x(y—2)+9(y-2)?

X% —2xxx3(y—2)+[3(y - 2)]?
[x-3(y-2)T°

(x—3y +6)?

(a+b)*-10(a+b)+25
(a+b)? —2x(a+b)x5+52
[(a+Db)-5]°

(a+b-5)?

6-51

(2) (x=1)%—-4(x-1)+4

(4) (a+b)*-10(a+b)+25
(6) (x+1)* =8(x+1)(x—2)+16(x —2)?
(8) Xx*—6x+9-4y?

(F1#* £ ehT 3 250

(F1# £ enT = 250

(F1# £ enT = 250



(5) (2x+1)* -2(2x+1)(x=3) + (x—3)?
= (2x+1)° -2x(2x+1)x (x=3)+(x—3)?
= [(2x+1)-(x-3)I° (I #* £ enT 3 2 50)
= [2x+1-x+3]J
= (x+4)°

(6) (X+1)? —8(x+1)(x—2) +16(x — 2)*
= (Xx+1)?-2x(x+D)x4(x-2)° +[4(x-2)]?
= [(x+)-4(x-2)J° (1 #* 2T > 254)
= [x+1-4x+8]°
= (-3x+9)°

(7 X2 —2X+1-Txy+7y

= (X*=2x+1D)—(7xy-7y) (A )

= (x=1)*-(Txy-T7y) (% - mf]* LT3 23
= (x-1)>-7y(x-1) (%= 2 7y)

= (x=-D[(x-D-7y] (&  x-1)

= (X=-D(x-7y-1)

(8) x> —6x+9-4y?

= (x*-6x+9)—(2y)° (A )
= (x=3)" - (2y)’ (1% ZLenT 3 230
= [(x=3)+2y][(x—3)—2Y] (FU* = X 2 5%)

= (x+2y-3)(x—2y-3)

[3% ] 6.3.35

(1) (x+5)°=2(x+5)+1 (2) (x+1)*=6(x+D(x-1)+9(x—-1)?
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6.3.4% 1% 23 A

REFFEAIVFREAT T
75/ ¢ a®+b®=(a+b)(@*—ab+b?)

1757 @’ b’ =(a-b)(@@’ +ab+b?)

548 6. 3. 4-1

%;__

RAF]F A2

FI#* 22 foa NFR A FET AL G
(1) x*+8
(3) 8x°+1

‘i3 :

(D

(2)

(3)

(4)

x> +8

x*+(2)°

(X+2)(x* —xx2+2%)
(X+2)(X* —2x+4)

x® +64

x* +(4)°

(X+4)(X* —xx4+4%)
(X +4)(x* —4x+16)

8x° +1

(2x)° +1°

(2x+1)((2x)* —2xx1+1)
(2x+1)(4x* —2x+1)

27x% +1

(3x)° +1°

(Bx+1)((3x)* —3xx1+1)
(3x+1)(9x* —3x +1)

(2) x®+64
(4) 27x°+1
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(F1#% =3 fe23t)

(fI* 23 o2 54)
(fI* 23 o2 54)
(1% 22 e 3t)



[y ]634-1

fIr 23 fe2 N FR A fET A S

(1) x*+27 (2) 125x° +1

& 4Z 6. 3. 4-2

F1# 2o N FV A fET AL N

(1) 8x*+27 (2) 27x°+64
(3) a’x*+b’ (4) (x+1)*+(y-1)’
i
(D 8x° +27
= (2x)°+Q)’
= (2x+3)((2x)* —2xx3+3?%) (F1# = 2 frash)

(2)

(3)

(4)

(2x +3)(4x* —6x+9)

27x% + 64

(3x)° +(4)°

(3x+4)((3X)* —3xx 4 +4%) (F1# ==
(3x +4)(9x* —12x +16)

a’x® +b°
(@°x)* + (b)°
(a’x+b)((@’x)* —a’xxb+b?) (4 # 2 3 foasb)

(a’x+Db)(@*x* —a’bx+b?)

(x+1)°+(y-1)°

[(X+D)+(y -DI(x+D)* = (x+D(y-D+(y-D°1  (f1* 2 3 fe2 34)
X+ Y)[(X* +2X+D) — (xy —x+y =D+ (y* =2y +1)]

(X+ Y)[X* +2X+1-Xy+ X -y +1+y* =2y +1]

(X+Y)(X* = xy+y? +3x -3y +3)
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[3% ] 6342

FI# 23 o N FN AR T AL SN

(1) 27x*+8

4% 6. 3.4-3

(2) 125x°+64

il 23 L AN FN S fRT AL GN
(1) x*-8
(3) 8x*-1

s

(2)

(3)

(4)

x* -8

x> —(2)°

(x=2)(X* +xx2+2%)
(x=2)(x* +2x+4)

x* —64

X —(4)°

(X=4)(X* +xx 4+4%)
(x—4)(x* + 4x+16)

8x° -1

(2x)% -1°

(2x-D)((2x)* + 2xx1+1)
(2x-1)(4x* +2x+1)

27x° -1

(3x)%-1°

(3x—1)((3X)* +3xx1+1)
(3x-1)(9x* +3x+1)

(2) x*-64
(4) 27x3-1
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[ ]6.34-3

Fl# 23 L AN FN S RT AL GN

(1) x*-27

548 6. 3.4-4

(2) 125x° -1

‘fll’l'l’:_"%g};;\;\j;\./@\ﬁ;‘f)ﬁjgi\,
(1) 8x*-27
(3) XS_aGbS

#h

(2)

(3)

(4)

8x°> —27

(2x)° - @)’

(2x—3)((2x)* + 2xx3+3?)
(2x —3)(4x* + 6% +9)

27x% —64

(3x)° - (4)°

(Bx—4)((BX)* +3xx4 +4%)
(3x—4)(9x* +12x +16)

x® —a’b’
(x)* - (a’b)*
(x—a’b)(x* + xxa’b +(a’b)

(x—a’b)(x* +a’bx+a’h®)

(x-1)°-y°
[(x=1)— yI[(x—-1)* +(x-1)y

(2) 27x°—64
(4) (x=1)°-y’

)

+y°]

(X—y-=D(X* =2x+1+xy—y+Yy?)

(X—y-1)(X* +y>=2x+Xy—y+1)
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[3% ] 6.3.4-4

fIr 23 fe2 N FR A fET A S

(1) 27x*-8 (2) 125x°-64
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¥ 42 6. 3-1

FI* T3 A NFN S FRET 5L N

(1) x*-25 (2) x*-16
(3) x*—36 (4) x*-144
¥ 4% 6. 3-2

FI* T3 A NFNAFRET AL N

(1) 36x°-9 (2) 4x>-16
(3) 25x*—-49 (4) 9x* -4

$ 32 6. 3-3
FI# T2 L TN fET A LG
(1) 9x* -4y’ (2) 25a% —4x?2
(3) 36x° -4y’ (4) 49a% —25h?

6-58



¥ 42 6. 3-4

FI* T3 A NFN S FRET 5L N

(1) (x+3)°-4 (2) (x+2)*—(x-2)°
(3) (2x+a)*—(x+a)’ (4) x*-9(x+2)°
¥ 426.3-5

(1) x?+8x+16 (2) x*+12x+36

(3) x*+18x+81 (4) x?+20x+100
¥ 42 6. 3-6

FI# foend 3 DN F U FET S 5N

(1) 9x*+6x+1 (2) 25x? +20x+4

(3) 9x?+42x+49 (4) 4x*+20x+25

6-59



¥ 42 6.3-7

(1 x2+zx+1 9 ix2+lx+1

) 39 ()16 6 9
(3) x*+x+0.25 (4) 0.09x* +0.06x+0.01

3 48 6. 3-8

(1) 4x° +4xy+y° (2) 25x*+20xy+4y?

¥ 42 6.3-9

FU# foind = S UF A JRT S E 50

(1) (x+3)*+2(x+3)+1 (2) (x+5)*+8(x+5)+16

(3) x*+6x(y-1)+9(y-1)° (4) (x+Y)* +4(x+y)+4

(5) (Bx+2)°+2(3x+2)(x+1) +(x+1)> (6) (BGx+2)*+6(5x+2)(2x+1)+9(2x +1)?
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¥ 42 6.3-10

(1) x*—4x+4 (2) x?-12x+36

(3) x*-16x+64 (4) x?-20x+100
3 37 6. 3-11

RS IR N FR A E

(1) 9x*—30x+25 (2) 36x%—24x+4

(3) 25x* —20x+4 (4) 49x* —28x+4
¥ 42 6. 3-12

F* £ T 3 0N F N T S A 5

1) XZ—EX+1 (2) ix2—1x+1

( 379 16° 6 9

(3) x?*-0.6x+0.09 (4) 0.25x*-0.9x+0.81
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¥ 42 6.3-13

FU# L enT 2 DN FN A RET SR 5N

(1) x*—4xy+4y° (2) 16x° —8xy+ Yy’

¥ 42 6.3-14

It AT 3 0 NFFU e fRT SR G

(1) (x+2)*>-4(x+2)+4 (2) (x=3)*—6(x—-3)+9

(3) X —4x(y+3)+4(y+3)? (4) (x+2y)*—8(x+2y)+16

(5) (Bx=17-23x-1)(x—4)+(x-4)*> (6) (X+1)>=6(x+D(y+D+9(y+1)°

¥ 42 6. 3-15

AR f&2T 7] LN

(1) x*-16 (2) (x2+3)2-9
(3) x*-x"y? (4) x*(2y+1)-4(2y+1)
¥ 42 6. 3-16
Fl3t o fRT AR RN
(1) X*+6x+9+2x+6 (2) X2 —4x+4+xy-2y
(3) x*+10x+25-y* (4) X2 —14x+49-9y’
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¥ 42 6.3-17

Fl3 A fET A RN
(1) x*+8 (2) 64x°+8
(3) (x-2)°-y° (4) (x+2)°+(y+2)°
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6.4 86 7 L3 gk RFINAE

FEARE » TR M 48T F R IREARMMA T 7 i
M EELL THIBIT - BZE— T — RSV > SRR -
(1)  (x+3)(x+4)

=x* +[1x4+3x1]x+3x4

= x> +7x+12

(2)  (x=3)(x-4)
= X? +[Lx (—4) + (-3) x1]x + (~3) x (-4)

= x> —Tx+12

(3) (2x+1(x-1)
= (2xD)x* +[2x (D) +1x1]x +1x (-1)

=2x*—x-1

(4) (x+2)(3x-1)
= (Ix3)x* +[1x (-1) + 2x3]x + 2 x (-1)
=3x* +5x—2

(5)  (2x-D(Bx+2)
=(2x3)X* +[2x 2+ (-D)x3]x+ (-1) x 2

=6X"+X-2

(6) (x+3)(x—4)
= (Ix1)x* +[1x (—4) +3x1]x + 3x (—4)

=x*—x-12
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LL6) BB -
RIE—TC— 2 (X +3) F (X — 4) A -
FORAN —JOH Ky I =AY X I x TR TR TR
R By 3T (—4) BUSRTE
—RIBRBIRIA—RIFEA FBIBR NAHFAKM - URE Xx(—4) +3xX °

BRI

X 3

X >

(—4+3)x=—X —IEERBFEEFHIxIB
REiARER » AISRERAE R —ITC R X +5X+6 » FRATAEHFR {8 — T — KA -
H&x*+5x+6 I _RIBEGEZE | - FAAZE—m— R x BHREEERES | ;

X +5x+6 EEIRGEZ 6 - FIA_B— Tt —RANEBIRGEEER 6 ;

X° +5X+6 I—RIBGEZE 5 FIU_E—m— XMW —RIEAZ B HR Y E
FekMAE S ;

5% X* +5x+6 Ol 3 ARAS (x+a)(x+b) - FIA] T EZHE R
X a
X, >0
X b

(b+a)x=5x
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FHYaFlb BISRIERE 6 - 6 {CAUMEREIEZRA 4 EES -
6=1x6=2x3=(-1) x(-6) =(-2)x(-3)
HAMRFIE 4 TRIF I ANES T 2K

(D
X 1
G < >< > 6
X 6
6+)x=7x —RIBGEEKTX - A5
(2)
X 2
G < >< > 6
X 3
(3+2)x=5x —RIB%E A5 - BE[RTIEE
3)

N

(6 -1)x =—7x —RIBEHREE-TX - A8
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“4)
X -2
X2 <:::::: :::><::: ::::::> 6
X -3
(-3—2)x =-5x —RIBGEER -5 - A5

TFamEEREQ)  itEa=2 ~ b=3 (#Ha=3:b=2E%)
aJ18 x> +5x+6 = (X +2)(x +3)

o Y DT AR Ry A IRA -
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I ZRIEAER 1 82

X+ (a+b)x+aba] f 538 Fe AR 2 47 i By (x+a)(x+b)

<>< by

(b+a)x =(a+b)x
2. _RIBGRE AR 1 NWZIE

prx® +(ps+qr)x+qs Al A+ ZRIEE N D ERS (px+q)(rx+s) -

px q
prx’ < >< > qs
X S

(pxs+rxg)x=(ps+qr)x
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6.4.1 & = =3 %#kci 1t 3Lk

b4% 6.4.1-1

Fl3 A fET A RN

(1) x*+4x+3 (2) x*+6x+5
(3) x*+6x+8 (4) x*+7x+10
iz
(D X* +4x+3 X 3
= (x+3)(x+1) I‘< >< >3
X 1
(1+3)x=4x
(2) x> +6X+5 X 5
= (X+5)(X+1) x2< >< >5
X 1
(1+5)x=6x
X 4
(3) x> +6X+8 X’ < >< >E
= (x+4)(x+2) x 2
(2+4)x=6x
x 5
(4) X2 +7x+10 x2< >< >1:]
= (X+5)(X+2) * .
(2+5)x=Tx

6-69



(3] 6411
7] 5% Ay\ﬁi—r 7] {E, F 0t

(1) X*>+8x+7

(4L 6. 4. 1-2

R EREE A
(1) x*—4x+3
(3) x*-7x+10
i
(D x* —4x+3
= (x=3)(x-1)

(2) x> —8x+7
= (x=7)(x-1

(3) x? —7x+10
= (x=5(x-2)

(2) x®+6x+8

(2) x?—-8x+7
(4) x?-10x+21

<><>

(—1)+(-3)]Jx=—4x

<><>

(- +(-TJx=-8x

X

[(-2)+(-5)x=-Tx

6-70



(4) x> —10x+21
= (x=7)(x=-3) < >< >’J1

[(-3)+(-T)]x=-10x

[3%¥ ] 64.1-2

FlN AR AL 5N

(1) x*—6x+8 (2) x*-11x+30

5142 6.4.1-3

F A R T A A

(1) x*+2x-3 (2) x> —6x-7
(3) x*+4x-5 (4) x?-10x-11
8 E

(D X* +2x-3 43
= (x+3)(x-1) < >< >
[(-1)+3]x=2x
(2) X —6x—7 L —7
— (x=T)(x+1) . <x><+1>‘7

[1+(-7)]x=—6x

6-71



(3)  x*+4x-5 .5
= (X+5)(x-1) < >< > 5

[(-1)+5]x=4x

(4) x* —10x —11
= (X=1D)(x+1) < >< -11

[1+(-11)]Jx=-10x

[5% ] 6.4.1-3

FlF A fET A E G

(1) x*-2x-3 (2) x?-12x-13

6-72



42 6.4.1-4

FlFN A fET 5 & 50
(1) x*-2x-8
(3) x*+3x-10

x*—2x-8
(X—4)(x+2)

x?—x-12
(X—4)(x+3)

x? +3x—10
(X+5)(x-2)

x? +5x—14
(X+7)(x-2)

(2) x*—=x-12
(4) x*+5x-14

(XD

[2+(—4)]x=-2x
SO
[3+(-d)]x=—x
< >< >—1::1
[(-2)+5]x=3x
o
[(—2)+ T]x=5x
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[y ]6.4.1-4

FIN AR A4

(1) x*—x-6 (2) x*+2x-15

142 6.4.1-5

R )?Q:"T 7] % F 0t
(1) x*+4xy+3y° (2) x*+4xy—5y?
FfE

(1) X® +4xy + 3y? X 3y
= () (x+y) “‘< >< >3}"
X ¥
(1+3)xy =4xy
(2) x* +4xy —5y? e +35y
= (c+5y)(x-y) I<x><_v )5

(D+35)xy =4y

[y ] 6.4.15

FlR A fET ARG

(1) x*—2xy-3y? (2) x*—4xy-5y?
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6.4.2 % - =7 thlc? 3 1¢hlg A g
B A TE R I TR GECR B | IR T RS AR T B
SN T XTE (TG -

I F PR 2 RS i 4x° —8x+3 » FH NS -

4x 1
(1) a2t < > = 3
X 3

(4x3+1x1)x=13x

=1
4x 3
2) i< >< = 3
X 1
(Ax1+1x3)x=Tx
&
. 4x -1
& a2 < > = 3
X -3
[4x(=3)+1x(-D]x =-13x
&
4x -3
@) < > > 3
X -1
[4x (-1 +1x(-3)]x=-Tx
=1
4x 1
(5) gx? = > = 3
X 3
(4x3+1x1)x=13x
=1
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©6) 2x -1
RS G

2x -3
[2x(=3)+2x(-1)]x =—8x
B &

R 4x° —8x+3=(2x-1)(2x - 3)
4% 6. 4. 2-1

Fl3t e fET AL G

(1) 2x*+3x+1 (2) 3x*+8x+5

(3) 2x*+7x+3 (4) 7x° +12x+5

s
(1) 2x% +3x+1

2x 1
— (@2x+D)(x+1) 202 < ><1 >
X

(2x1+1x1)x=3x

(2)  3x*+8x+5 3y 5
— @x+5)(x+]) = PN s

X 1

(3x1+1x5)x=8x

(3) 2x° +7x+3 2x 1
= (2x+D)(x+3) 200 < 3 =3
X
(2x3+1=xDx=Tx
1x 5
(4) 7% +12x+5 TIE{: >< :‘_:;-5
= (7x+5)(x+1 X 1

(Tx1+1x5)x=12x
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[y ]642-1

FIN AR A4

(1) 3x*+4x+1

{4 6. 4. 2-2

Flgo A fiET s RS
(1) 2x*+7x+6
(3) 4x*+8x+3
i
(D 2X° +7X+6
= (2x+3)(x+2)

(2) 3x* +11x+10
= (Bx+5)(x+2)

(3) A% +8X+3
= (2x+1)(2x+3)

(4) 6x* +19x+10
= (2x+5)(3x+2)

(2) 5x*+16x+11

(2) 3x*+11x+10
(4) 6x*+19x+10

2x 3
2x3< >< > 6
X 2

(2x2+1x3)x=Tx

3x 5
3x2< >< >’m
X 2

(3x2+1=x5)x=11x

2x 1
1< > =3
2x 3

(2x3+2xD)x=8x

2x 5
6 < >=_ = 10
T

3x 2

(2x2+3x5)x=19x
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[y ]6.4.2-2

FIN AR A4

(1) 2x*+9x+9

b4 6. 4. 2-3

Flgo A fiET s RS
(1) 2x*—19x+9
(3) 8x*-19x+6
#i#
(1) 2x% —19x+9
= (2x-1D(x-9)

(2) 6x* —17x+12
= (Bx-4)(2x-3)

(3) 8x?—19x+6
= (Bx-3)(x-2)

(4) 12x* —23x+10
= (4x-5(3x-2)

(2) 3x*+13x+12

(2) 6X*—17x+12
(4) 12x*-23x+10

2x -1
22 < > =9
X -9

[2%(—9)+1x(-1)]x=-19x

3x —4
6x> < ><_ = 12
_3

2x

[3x(=3)+2x(—D]x=-17x

&x -3
gt < > = 6
X -2

[B8x(=2)+1x(-3)]x=-19x

dx -5
12 < > 10

Ix -2

[4x(=2)+3x(-5)]x =-23x
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[y ] 6423

FIN AR A4

(1) 9x*-73x+8

14 6.4.2-4

Flgo A fiET AR5
(1) 2x*+3x—-2
(3) 6x*—b5x-14
i
(D) 2x% +3x—2
= (2x-1D(x+2)

(2) 5x? +12x—9
= (5(x-3)(x+3)

(3) 6x? —5x—14
= (6x+7)(x-2)

(2) 3x*-14x+8

(2) 5x*+12x-9
(4) 12x*-19x-21

2x -1
200 < > = 2
X +2

[2%2+1x(-1)]x=3x

5x -3
syt = > = -9

X +3

[5x3+1x(-3)]x=12x

6x +7
ot < > > -

[6x(-2)+1xT]x =-5x
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(4) 12x* —19x—21
= (3x-7)(4x+3)

[y ] 6.4.2-4

Fl3 e fET A RN

(1) 8x*-23x—3

3x -7
2¢< > > -21
dx +3

[3x3+4x(-T)]x=-19x

(2) 4x*+8x-5
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6.4.3 & L F 3 fiERTFN AR E AT
A NI 48— R IR T SR R A A A

“RIRBB R EN T A

IR RER B — T AU - B e E SRR K o B AR
Tk e

BB R — X +x+2 > BFVCEESRE K -

X2+ x+2=—(x*-x-2)

BEER TR AR X —x=2

X -2
< > = 2
X

+1

[1Txl+1x(-2)]x=—x
BEIX* —x=2=(x=2)(x+1)

HER R — x>+ X+2=—(X*—x—2) =—(x-2)(x+1)

4% 6. 4. 3-1
i ;\‘.,z,,\ﬁ;'r 51]3,,;\3 :
(1) —x*—=x+2 (2) —x*—x+6
e
(1)  —x*—x+2 X -1
C tan) v > > o
B X +2
= —(x=D(x+2)

[I=x2+1x(-D]x=x
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(2) —X*—X+6
—(Xx*+Xx—6)

= —(Xx=-2)(x+3)

[y ]643-1

FIN AR A A

(1) —=x*=2x+3

& 4Z 6. 4. 3-2

Flgt A fiET s RS
(1) —2x*-5x+3
(3) —3x*+10x+8
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By 6.3.34

(1) (x-3y)° (2) 8x-2y)*
By 6.3.3-5

(1) (x+4)? (2) (-2x+4)

Y 6.3.4-1
(1) (x+3)(x* =3x+9)

Ry 6.3.4-2
(1) 3x+2)(9x* —6x +4)

Y 6.3.4-3
(1) (x=3)(x* +3x+9)

My 6.3.44
(1) (3x—2)(9x* +6x + 4)

6.3 ¥ #gj% ¥
6.3-1

6. 3-2

6.3-3

(1) (x+5)(x+2)
(3) x(3x+2a)

(D (x+4)°
(3)(x+9)*
(1) Bx+1)?
(3) (Bx+7)?

1.
(D &x+3)

(3)(x+05)°
6.3-8 (1)(2x+y)?
(1) (x+4)°
(3) (x+3y-3)°
(5) (4x+3)?
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(2) (5x +1)(25%x* —5x +1)

(2) (5% + 4)(25%x* — 20X +16)

(2) (5x —1)(25x° +5x +1)

(2) (5x —4)(25x” + 20x +16)

(1) (x+5)(x—-5)
(3) (x+6)(x—6)

(2)(x+4)(x-4)

(4) (x+12)(x-12)
(1) (6x+3)(6x—3) (2) (2x+4)(2x—4)
(3) Bx+7)(Bx=7) (4)3(x+2)(3x—-2)
(1) (3x+2y)(3x—2y)
(2) (5a + 2x)(5a — 2x)
(3) (6x+2y)(6x—2y)
(4) (Ta+5b)(7a—5h)

(2)8x

(4) (4x+6)(—2x —6)

(2) (x+6)°

(4) (x+10)°
(2) (5x+2)°
(4) (2x +5)°

11,
(2) (ZX+§)
(4)(0.3x +0.1)?
(2) (5x + 2y)?
(2) (x+9)?

(4) (x+y+2)?
(6) (11x +5)?



6.3-13
6.3-14

(1) (x-2)* (2) (x-6)
(3) (x—8)? (4) (x-10)?
(1) (3x-5)? (2) (6x—2)?
(3) (5x-2)? (4) (7x-2)?
1\, 1 1,
(1)(X—§) (2>(ZX_§)
(3) (x-0.3)? (4) (0.5x - 0.9)°
(1) (x-2y)* (2) (4x-y)?
(1) x? (2) (x-6)*
(3)(x=2y—-6)"  (4)(x+2y—4)°
(5) (2x+3)° (6) (x-3y-2)*
(1) (X* +4)(x+2)(x=2) (2)X*(x* +6)

(3) X*(x+y)(x-y)

(4D (2y+D(x+2)(x-2)

(1) (x+3)(x+5)

(2) (x=2)(x+y-2)

(3) (X+Yy+5)(X—y+5)

(4) (x+3y-7)(x—-3y-7)

(1) (X+2)(x* =2x+4)

(2)8(2x +1)(4x* —2x +1)

(3)

(X—=y=2)(X* —4x+4+xy—2y+Yy?)

Y 6.4.2-3
(1) (9x-1)(x~-8)

(2)(3x—2)(x—4)

Y 6.4.2+4

(1) Bx+)(x-3) (2)(2x+5)(2x -1

Y 6.4.3-1

(1) = (x=1)(x+3) (2)-(x+4)(x-2)

Y 6.4.3-2

(1)—-Bx+D(x-3) (2)—(2x-1(2x+5)

Y 6.4.3-3

(D X(X+4)(x+2) (2) xy(2x +3)?

Ry 6.4.3+4

(1) (x+1D(x+4) (2)(x-6)(x+1)

Y 6.4.3-5

(1) (ax-7)(ax-1) (2) (x—2a)(x-1)

6.4 ¥ 452 ¥

6.4-1 (1)(x+5(x+2) (2)(x+4)(x+3)
B (X+6)(x+2) (4)(x+4)(x+6)

6.4-2 (1)(x-3)(x-2) (2)(x=-5(x-7)

(3) (x-10)(x-4)
(1) (x—3)(x+4)
(3) (x—3)(x+2)
(1) (x+6)(x-2)
(3) (x=9)(x+3)

6.4-3

6. 4-4

(4) (x—=4)(x-8)
(2) (x—6)(x+3)
4 (x+7)(x-2)
(2)(x+4)(x-=7)
(4) (x+8)(x-2)

(4)

(X+Y+4)(X> +2X+2y+y* —xy+4)

6.4 Y 2%
Ny 6.4.1-1
(D (X+7)(x+1)
MY 6.4.1-2
(1) (x=4)(x-2)
Ny 6.4.1-3
(1) (x=3)(x+1)
Ny 6.4.14
(1 (x=3)(x+2)
MY 6.4.1-5
(1) (x=3y)(x+Y)
RY 6.4.2-1
(D Bx+D)(x+1)
Ry 6.4.2-2
(1) (2x+3)(x+3)

(2) (x+4)(x+2)
(2) (x-6)(x—5)
(2) (x=13)(x+1)
(2) (x=3)(x+5)
(2) (X=5y)(x+Y)
(2) (5x+11)(x +1)

(2)(3x+4)(x+3)

6.4-5

6.4-6

6. 4-T7

6.4-8

6.4-9

6.4-10
6.4-11

6. 4-12
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(1) (x+2y)(x+3y)

(2) (X +T7y)(x-2y)

(1) (2x+D)(x+5) (2)(3x+4)(2x+1)
(3) (3x+5)(2x+3) (4) (x+3)(7x+2)
(D BX+DHBx+2) (2) (4x+3)(x+5)
(B (X+3)Bx+2) (4)(4x+3)(2x+1)
(1) (4x-9)(2x-1) (2)(2x-1)(3x-5)
3 (Tx=D(x-2) (4 (2x-5)(x-3)
(1) (x=DBx+7) (2) (3x—5)(x—4)
(3) (2x+3)(Bx-7) (4) (x-3)(12x+5)
(DH-(x+7)(x+9) (2)—(x=3)(x+5)
(1)—(5x-3)(3x+5)
(2)—(4x-T)(2x+3)
(3)—(3x+8)(x-2)
(4)—(2x+3)(2x-5)

(D Xx(x=3)(x+6) (2)x(x+3)(x—2)
(3) y(x+5)(x+3)

(4) xy(2x-T)(2x+3)



6.4-13 (1) (x+5)? (2) (x=13)(x-5)

Q) (X+8)(x+7) (4)x(x+])
6.4-14 (1) (ax—4)(ax+3) (2)(x+2)(x+a)
(3) (Tax+1)(4bx +2)
(4) (3ax—h)(x—h)
6.5 ¥ 48fz ¥
6. 5-1 ¥ ta=5
6. 5-2 ¥ :a=30~b=-9
6. 5-3 ¥ :1c=6
6. 5-4 2 k¥vaweniEi7 ~-7-~5--5
6.5-5 % ra+b+c==

FAEFEVH

1. ¥ :

(1) (x+DH(x+2)

(2) (x+6)(2x-7)

(3) 5(x-3)(x+1)

(4) (x=3)(xy+3)

(5) (Bx+7)°

(6) (3x-7)°

(7) X(x+3)(x-3)

(&) (2x+y-D(2x-y-1)
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(9) Bx+y+hHBx-y-1)
(10) (X" +D)(x* +D(x+1)(x-1)
(11) (x—4y)(x+5y)
(12) —(x+7)(x+9)

2. ¢ :

(1) (2x+D(x+5)

(2) (2x-1)(3x—4)

() (2x+7)(2x-3)

(4) (3x-2)(8x+1)

(5) x*(3x+10)(2x-9)
(6) (3x+7)°

(7) (2x—3)(2x+9)

8) (a+b-6)(a+b+2)
(9 (x+8y)(x-2y)
(10) (—a+3b)(—2a+4b)
3.8 :m=-3

:D

2124 -12
:m=-3

: 2a+b=-6

: =500

: 5800
a+b+c=23

AU AR A AN A AN

4
5
6.
7.
8
9
|



RRIB§ L BRGEE R

L (%) ©

#fa 0 AXP—ax+9=(2x-b)? =4x* —4bx+b® — b*=9 - a=4b — b=3 - a=12&b=-3 -
a=-12(Fla i & i 7 £)
2a-b=2x12-3=21

2. (%) O

iz 6X°—7x-3=(2x-3)(3x+1)
4x* —12x+9=(2x-3)(2x-3)
o FFV L 2X =3

3. (%)W

20 (D)3 -x-10% x-2:3 5 » F4eh
(B) X—2 & % 3x* —x—10 eh#F] 3
(C)3X+5 /& % 3x* —x—10 e 5¢
(D)3X? —x—10 & 5 X—2 iz 5%

4. (¢ %) (O
#qz : 56X +17x-12=(5x—3)(x +4)
X+4 % 2 750

5. (¥ %) (D)
#qz: (6x*-3x)-2(7x-5)

=6x° —17x+10
— (6x-5)(x-2)

6. (&%) )
#fz 22X +5x=3=(2x-1)(x+3)
2x—1% # 73t

7. (%%) O
g 0 33+ TXx=X(33X+7) » #1232 +TX 5 33K+ T i 58

8. (&%) )

gzt 33x% -17x—-26=(ax+b)(cx +d) = (3x + 2)(11x —13)
la+b+c+d|=[3+2+11-13 =3

9. (&%) (B

iz 2X° +bx+2x+b
=X(2x +b) + (2x +b)
=(2X+b)(X+1) » =t A HmEE A w5 Xx+1 - 2x+b

6-107



10. (&%) D
2qg 0 A81x% +2x—3=(13x+a)(bx+c) = (13X —1) (37X +3)
a=-1-b=37-c=3-a+b+c=39 > &3 (D)7

1. (% %) (A
iz 0 (19x-3D(@A3x-17)—(13x—17)(11x — 23) = (ax+ b)(8x + ) = (13x—17)(8x —8)
a=13-b=-17-c=-8 - a+b+c=13-17-8=-12

12. (% %) (O
iz 22x" -83x° +21x°
= x°(22x* —83x + 21)
=x°(2x-7)11x-3) » w4 x*(11x-3) % # F]5¢

13. (&%) (O
#iz . M=(2x+D(x+1) - N=(2x+1)(2x-3)
2 FE 2x+1

14. (% %) (B)

iz A=x*(2x-3)(5x +6) = [(5x +6)(2x —3)] - x*
B = (5x+6)°(4x* —=9) = [(5X + 6)(2x — 3)]- (5% + 6)(2x + 3)
# 7 3 (5Xx+6)(2x—3) » & A~ B e F5L

15, (% %) (A

#qz 08X —10x+2=(2x-2)(4x-1)
2X—2 % # 75

6-108



